Calculus II - Spring 2014
Quiz #1, February 12, 2014

In the following problems you are required to show all your work and provide the necessary explanations every-
where to get full credit.
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1. Find/ 22+ 3% +sinz +sec’z + — + 5+ >da:.
\/5 14+« 1 — 22

Solution: We have
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2. Find / —2x4 dx

V1 — 325
Solution: We have
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3. Find /sin2 xdz.
0
Solution: We have
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4. Find /ln2 zdx.

Solution: We have

i In’z =u dz = dv
2 N\ _ 1
/lnzxd:v: d(In”z) = du r="v :xln2x—/x~21nx-—dx:xln2x—2/lnxdx
1 xr
2Inz - —dx = du
L T
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1 s
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T

) :xln2x—2(xlnx—/dx>

=zln’r—2(xhe —2)+C

=zln’z —2zlnz + 22+ C

dx
5. Find .
/\/x +1

Solution: We have

Tz =tand
/ de dr = d(tan0) _ / sec? 0do
Vi +1 B dr = sec® 0df B sec 6

Va2 +1=+vtan?0 + 1 = Vsec2 ) = |secl| = secl
= /sec@d@

= In|secl + tanb| + C

Since sec ) = /22 4+ 1 and tanf = = by the above, it follows that
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/ 29:_1zln]secﬁ—i—tanQ]+C:ln(\/x2+1+x)+C'
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